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[0 20209 &= [2020.1.1-12.31]

i = = %
1. AFY 32 399,191,543
HMoo|g2 124,904,663
3|H| 2,840,000
MNeAl Bxg2 226,402,000
ZOIHLUSRI|2 45,000,000
O| X} 44,880
2. AFHH|E 339,575,811
HEao 53,790,720
EX A= 4,508,880
238 6,416,280
ArEA YAt= 9,240,000
AR 2tE2|H] 4,746,720
E A 1,925,700
ST 0| x| 2tz|H| 1,008,000
FEEME-) 1,980,000
CMS A& = 660,000
S| HEH] 514,800
S US| 1,020,000
AFE8 ZH| 834,000
3| o|H| 2,895,000
S HOIMH| 2,788,471
SHE IS AX| 2| 208,779,940
K|Oi7HS K| K| = H] 38,467,300
3. Al | =2 49,830,000
= 9,000,000
49 830,000
2t 4= QlH| 40,000,000
4. At 9| H|E 24,154,760
M2A Exg gy 17,622,060
SUALSE7 |3 B 6,532,700
5. Ct7|aXtako| Z(Zh 85,290,972




[0 20219 & [2021.1.1-12.31]

i = =
1. Al =9 520,423,154
1-1. XtH| At =< 258,162,484
HM2|0lEa 85,290,972
123 56,799,437
0= 90,907,347
2[H] 1,700,000
7Bt 23,354,795
i = O[ Kt 109,933
1-2. EXZAMY 9 262,260,670
MEAEEZZF 262,172,000
MEZAEZFO[At 88,670
2. Al H|E 337,551,532
2-1. XtH| AtHH|& 114,953,622
AAZ 0 5,814,280
S EEi= 9,027,208
HxFXF 20,547,100
Se|Z 4| 235,000
Hy| 720,580
& 4lH| 1,949,920
Naotsota 171,890
UKtz 11,344,500
23R 9,981,350
N =SSN 840,750
24tH| 276,850
T A lafH| 396,640
T+ 2H|E 9,603,915
Azl 5,450,260
EXdg5YaMY 4,688,860
JlEAIR R 9,850,971
ZAMER 3,419,193
S 0| X| 22| H] 1,008,000
2| 9|7 x| H] 1,808,000
E3H| 1,829,800
mEs N =4 2,900,000
AtE2te| ] 7,829,240
7|ElR EH] 5,259,315
2-2. BEXAHH|E 222,597,910
HECIEZ0S 54,295,200
2| 148,499,870
ZEH| 3,000,000
s3] 1,800,000
HItAHE| 13,424,840
7|Eh2 EH] 1,578,000
3. AlY 2| H| 8 39,662,760
MEABEEZHtLt 39,574,090
MEZAEZFO|RpEHE 88,670
4. S7|=XM0| S(H) 143,208,862




[0 20229 &= [2022.1.1-12.31]

i = =
1. A =9 721,863,848
1-1. Xt AF =2l 254,016,548
HMoiolgZ 143,208,862
71823 10,284,992
20| 97,106.210
3| H] 570,000
7|Et=¢ 2,705,791
0l = O]k} 140,693
1-2. EXAMY £=2l 467,847,300
MEAEZZD 316.927.000
MEAEZZO0|XH@ 85,750
MEAEZZEG 150,787.000
MEAEZZ0|X@ 47,550
2. Al H|2 441,697,331
2-1. XHA| AtHH|E 93,290,741
AAZ0 5,284,290
elg 2,267,780
EZZ0 1,530,000
=N 1,840,790
LA 8,750,720
OfH| W EHj 4,206,600
SAH| 2,690,060
MEa1sat= 3,425,930
UKL= 9,103,600
HHZ 12,314,685
PNI= EONEE] 17,000
24| 3,000
S QIAHH| 1,287,000
EEH| 40,900
AR EEH| 1,000
A EH| 5,427,080
$4FH|E 12,061,292
H=ey| 6.791.478
EXdgsdadY 6.435,660
FIEAIE R 8,934,216
ZIAMER 877.660
2-2. EEAIHH| 2 348.406.590
HEIHZ0E 88,931,507
ZEH| 208.616.430
ZHH| 1,799,300
mE=ee: 1o 3,886,892
R 6.220,000
HIIRHE Y| 22.250.000
3| 2| 7) =] 3,798,490
EHH| 1,660,000
7|Et2 GH| 6.513.031
PN 3,730,940
3| A ASH| 1.000.000
3. Al 9| HIE 119.440.710
MEBANEZFEHO 67,638,370
MEZAEEZFZO|XHEHE @ 85,750
MEBAEZFEH 51,669,040
MEZAEXZFZO|XHEHE @ 47550
4. St7| =40l =(Zh 160,725,807






